Harplinge BK

Simultantavling 2021-11-25

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poang Namn MID Klubb
1 3 282 65.28 Christer Hedborg - Peter Krug 11610 14201 BK Allians, Halmstad - Harplinge BK
2 4 274 63.43 Lars Kennethsson - Per Jansson 17074 2485 BKLyx
3 16 249 57.64 Per-Ingvar Skoglund - Vera Gemrud 2734 23764 BK Allians, Halmstad
4 5 243 56.25 Carl Bjork - Sabine Dellien 55384 82259 BK Allians, Halmstad - Harplinge BK
5 7 236 54.63 Tage Ericson - Lennart Lassagard 11651 7312 BK Allians, Halmstad - Harplinge BK
6 6 231 53.47 Lasse Larsson - Marianne Larsson 2505 18989 BK Allians, Halmstad
7 12 226 52.31 Inger Ostenson-Traff - Eva Mansson 89395 86752 BK Allians, Halmstad
8 17 224 51.85 Jan-Inge Troedsson - Ronny Upphoff 13420 2500 Harplinge BK
9 9 220 50.93 Gorel Upphoff - Margareta Pettersson 4011 35974 Harplinge BK
10 2 218 50.46 Kenneth Lindvall - Eva-Lotta Lindvall 65523 65525 Harplinge BK
11 20 217 50.23  Anders Jacobsson - Magnus Erickson 38497 37469 Kuvibille BS - Harplinge BK
12 1 212 49.07 Bengt Ove Olofsson - Lena Andersson 35966 35967 Harplinge BK
13 14 210 48.61 Pelle Stromberg - Jérgen Svensson 2501 7313 Harplinge BK - BK Allians, Halmstad
14 11 206 47.69 Cay Krug - Hans-Gdran Larsson 14200 26744 Harplinge BK
15 15 199 46.06 Torgny Svensson - Roland Bdrjesson 59088 42173 BK Allians, Halmstad
16 18 195 45.14  Annika Nilsson - Yvonne Arvidsson 36967 42199 BK Allians, Halmstad
16 19 195 45.14 Eva Andersson - Margareta Brorsson 45475 83530 BK Allians, Halmstad - Harplinge BK
18 8 192 44.44  Kenneth Johansson - Gunnel Jansson 11997 7404 BK Falkenberg - BK Allians, Halmstad
19 10 175 40.51 Martin Hellekant - Margareta Hellekant 45394 45395 BK Allians, Halmstad
20 13 116 26.85 Marita Christiansson - Gunnel Johansson 84603 17339 Harplinge BK
1  E9863 Basta kontrakt 2 &« EKDKn75 Bésta kontrakt 3 & KDKn Bésta kontrakt
Nord v 974 5v O =-450 Ost vD9 5NT S =660 Syd v ED8643 ANT V =-630
Ingen +E108 NS *7 ov ¢ 63
«108 & ¢ v & NT #EKn105 & ¢ v & NT »K8 & ¢ v & NT
4 K2 4 Kn107 N5426 2 4109632 484 N 10107 1111 49 4E107532 N 4 3 53 3
vED10852 vKKn S5426 2 v Kn62 vE10843 S 10107 1111 vKKn92 v5 S 43533
¢ 65 ¢ K9743 08 9 117 10 ¢ K1063 ¢5 032522 ¢+ 10754 ¢ EKS8 09 107 9 9
#ED2 *K75 vV 89 117 10 *2 #87643 V22522 #DKn62 #E97 vV 9 108 1010
« D54 .- 4864
v 63 v K75 v 107
¢ DKn2 + EDKn9842 ¢ DKn92
#Kn9643 «KD9 #10543
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
19 2 4v V-1 »T 50 18.0 0.0|12 15 3NS+2 42 660 180 00|13 2 44 0-2 vT 200 18.0 0.0
6 14 3v V+2 &T 200 16.0 20|16 8 44 N+1 ¢5 650 16.0 20| 6 20 24 O-1 vT 100 150 3.0
7 9 4v V= &T -420 11.0 7.0| 7 9 44 N= ¢5 620 120 6.0| 9 16 34 O-1 vT 100 15.0 3.0
12 15 4v V= »T -420 11.0 7.0|18 10 44 N= ¢5 620 120 6.0|11 18 14 O+2 ¢2 -140 10.0 8.0
18 10 4v V= va -420 11.0 7.0|20 5 44 N= vA 620 120 6.0|12 4 24 O+1 *T -140 10.0 8.0
20 5 4v V= &T -420 11.0 7.0| 4 17 6¢ S-1 »2 -100 50 13.0|14 7 34 0= vT -140 10.0 8.0
4 17 4v V+1 s A -450 3.0 150| 6 14 64 N-1 vA -100 50 13.0| 1 15 3v N-3 ¢ A -150 4.0 14.0
11 3 4v V+1 v4 -450 3.0 150|11 3 6NN-1 vA -100 5.0 13.0| 8 10 3v N-3 +K -150 4.0 14.0
13 1 4v V+1 oA -450 3.0 15013 1 64 N-1 vA -100 50 13.0{19 3 3v N-3 oA -150 4.0 14.0
16 8 4v V+1 s A -450 3.0 150(|19 2 64 S-2 *2 -200 0.0 18.0|17 5 24 0+2 *T -170 0.0 18.0
4 4 Knl074 Bésta kontrakt 5 » 10964 Bésta kontrakt 6 4732 Bésta kontrakt
Vast v Kn32 24 N =90 Nord vD3 54 N D -1-200 Ost v 986 24 S =110
Alla + D5 NS 463 ov + EK1084
#9753 & ¢ v & NT #Kn9873 & ¢ v & NT #Kn5 & ¢ v & NT
492 4 8653 N8 6576 452 48 N4 9 2 103 454 4 D108 N7 8787
v1086 v KD954 S 86576 v EK10765 v Kn984 S 49 2 103 v1053 vEKn72 S78787
¢ K9864 ¢ Kn7 O57 766 ¢ K97 ¢ Kn85 09 3 113 6 ¢ DKn53 ¢ 762 06 46 45
#EK2 #Kn6é V477586 *K2 #«ED1064 vV 9 3 113 6 #ED108 #K92 V646145
4 EKD # EKDKn73 & EKKNn96
vE7 v2 vKD4
+ E1032 + ED1042 +9
«D1084 «5 #7643
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 15 INS+2 ¢4 150 170 10| 1 5 44 S= vA 620 150 3.0|20 7 44 S= v3 420 18.0 0.0
8 10 2N S +1 «K 150 170 10| 4 19 44 S= vA 620 150 3.0| 4 19 24 S+2 v3 170 13.0 5.0
11 18 INS= +6 90 140 40|14 8 44 S= vA 620 150 3.0| 6 17 34 S+1 ¢5 170 13.0 5.0
12 4 1l¢ S= *A 70 12.0 6.0|18 12 44 S= vA 620 150 3.0|15 2 24 S+2 4 170 13.0 5.0
14 7 1¢ S-1 *K -100 90 9.0|13 3 34 S+2 vA 200 100 8.0|18 12 24 S+2 v3 170 13.0 5.0
19 3 2NS-1 +6 -100 90 90| 6 17 54 S-1 vA -100 50 13.0| 9 11 24 S+1 ¢+Q 140 8.0 10.0
6 20 2NS-2 +6 -200 5.0 13.0| 9 11 54 S-1 vA -100 50 13.0|13 3 INN+1 ¢7 120 6.0 12.0
13 2 1¢DS-1 #A -200 50 13.0|10 16 54 S-1 vA -100 50 13.0| 1 5 24 S= +3 110 20 16.0
9 16 2NS-3 vT -300 10 17.0|20 7 54 S-1 vK -100 5.0 13.0|10 16 24 S= ¢+Q 110 20 16.0
17 5 24 N-3 vK -300 10 17.0(15 2 4v V+1 oT -450 0.0 18.0|14 8 24 S= 4 110 20 16.0
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7 4 K853 Basta kontrakt 8 4 Kn6532 Basta kontrakt 9 410 Basta kontrakt
Syd v2 3NT O =-600 Vast v432 4%V =-130 Nord v EKn52 3vy ND-1-100
Alla + D983 Ingen ¢ K105 ov ¢ Kn985
#Kn943 & ¢ v & NT *E6 & ¢ v & NT #Kn865 & ¢ v & NT
4762 #ED9 N4 4754 «E7 « K1094 N37667 «ED875 4Kn4 N54856
vK96 vD3 S44754 vED v KKn87 S37667 vD v 986 S54856
¢ EK10 ¢ Kn7642 0896729 ¢9742  #Kn O 106 7 7 6 ¢E107 ¢ K6432 089587
«D762 #E108 V896738 #87432 #DKn109 vV 106 7 7 6 #EK103 #942 V89587
«Kn104 «D8 « K9632
v EKn108754 v 10965 v K10743
+5 + ED863 +D
*K5 *K5 *D7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 20 24 O-3 ¢5 300 180 00| 1 18 2¢ S-1 2 50 170 10|17 8 2v S+2 A 170 180 0.0
1 18 4¢ O-1 vA 100 140 40| 7 17 2¢ S-1 &2 -50 170 10(16 12 2v S+1 A 140 160 2.0
7 17 44 O-1 vA 100 140 40|16 11 INV= a2 90 130 50|11 1 2vyS= 4A 110 140 4.0
14 9 3¢ 0-1 «J 100 140 40|19 5 INV= a2 90 130 5.0(13 5 34V-1 vA 100 120 6.0
19 5 3vS-1 ¢ A -100 100 80|13 4 INV+1 43 -120 90 9.0|14 10 3vS-1 *K -50 9.0 9.0
2 6 3vS-2 ¢+ K -200 6.0 12015 3 INV+1 43 -120 90 90|20 9 3vS-1 *A -50 9.0 9.0
13 4 3vS-2 ¢A -200 60 120| 2 6 440= +Q -130 40 140| 2 18 1la V= +5 -80 5.0 13.0
15 3 3vS-2 ¢A -200 6.0 12.0| 8 20 3+ V+1 +5 -130 40 140| 6 19 1la V= *6 -80 5.0 13.0
16 11 3vS-3 ¢ A -300 20 16.0(14 9 340+1 T -130 40 140| 3 7 2¢ 0= a2 -90 20 16.0
10 12 3vDS-3 +A -800 0.0 18.0|10 12 INV+4 a2 -210 00 18.0|15 4 1laV+l +5 -110 0.0 18.0
10 D83 Bésta kontrakt 11 & K95 Bésta kontrakt 12 a2 Bésta kontrakt
Ost v EK6543 44 S =620 Syd v K98 3NT V =-400 Vast v EKDKn106 5¢v N =650
Alla 43 Ingen + K85 NS + D8
#109 & ¢ v & NT #9854 & ¢ v &4 NT #DKn74 & ¢ v & NT
4Knl042 465 N 106 9 108 4 E63 « 107 N4356 3 41085 «E763 N 115 119 5
vDKn102 v87 S 106 9 108 vD7 v E1064 S$43563 v 84 v 753 S 115 119 5
¢ 8765 ¢KDKn109 O 3 7 3 2 4 ¢ EKn764 ¢ D1093 O 8 108 7 9 ¢ EKn76542 ¢ K109 018222
*8 #KD75 V27324 *K106 #ED3 vV 9 108 7 9 10 982 vVi1igz222
« EK97 & DKn842 « KDKn94
v9 v Kn532 v92
¢E2 2 +3
#EKN6432 #Kn72 #EK653
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
14 10 4v N= ¢K 620 180 0.0(14 11 3NV-1 *4 50 180 00| 4 8 4vN+3 ¢3 710 180 0.0
20 9 3¢DO-2 v9 500 160 20| 4 8 3¢ V+1 45 -130 150 3.0|12 2 5vN+1 9 680 150 3.0
3 7 24 S+43 +8 200 13.0 50(|16 1 3¢ V+1 *9 -130 150 3.0|16 1 4v N+2 43 680 150 3.0
17 8 3¢ O-2 v9 200 130 5.0[10 20 3NV= *9 -400 8.0 10.0|15 5 4y N= v5 620 110 7.0
2 18 34 S+1 ¢6 170 100 80|12 2 3NV= »4 -400 8.0 10019 7 4y N= &9 620 110 7.0
11 1 34#S+2 +8 150 80 10013 6 3NV= a5 -400 80 10.0|17 9 5¢DV-3 <vA 500 7.0 11.0
6 19 54 S-1 +8 -100 40 14015 5 3NV= *4 -400 80 10.0|18 3 5¢DV-3 T 500 70 11.0
15 4 3NS-1 +6 -100 40 140|119 7 3NV= a5 -400 8.0 10.0|10 20 3v N+ ¢+K 200 4.0 14.0
16 12 54 S-1 vQ -100 40 14017 9 3NV+1 *4 -430 10 17.0({13 6 5¢ V-3 vA 150 20 16.0
13 5 3NS-2 vQ -200 0.0 18.0|18 3 3NV+1 *4 -430 10 17.0(14 11 6#S-1 ¢ A -100 0.0 18.0
13 a2 Basta kontrakt 14 4 D6 Basta kontrakt 15 4 KKn6 Basta kontrakt
Nord v EK10873 4% O =-130 Ost v Kn104 34 N =140 Syd ¥ 7652 4e V =-420
Alla + D104 Ingen + EK84 NS 41082
#532 % ¢ v & NT #KD102 % ¢ v & NT #K75 % ¢ v & NT
4 DKn93 « E654 N3 9846 21083 4Kn95 N9 6598 452 «ED973 N3 3334
v D96 v5 S39946 v K98 v E7652 S96588 vEDKn  vK43 S33334
.- ¢ Kn8632 0102 2 8 2 ¢92 ¢DKn1076 O 3 6 7 3 3 ¢ Kn9764 ¢ EK O 9 109 109
#ED10876 #KKn9 vV 102 3 8 2 #EQ9763 &- V36733 «D109 *Kn84 vV 9 109 109
4 K1087 4 EK742 41084
v Kn42 vD3 v 1098
¢ EK975 +53 ¢ D53
*4 #Kn854 #E632
Par  Kontr ut Res Poéang Par Kontr ut Res Poang Par Kontr ut Res Poéang
5 9 4y N+1 v5 650 180 00| 5 9 3NN+1 ¢Q 430 120 6.0 2 4 3NO= +3 -400 12.0 6.0
14 12 4v N= &K 620 160 20| 7 13 3NN+1 ¢+Q 430 120 6.0 6 10 3NO= vT -400 120 6.0
7 13 3y N+1 %9 170 130 5.0|11 20 3NN+1 ¢+Q 430 120 6.0| 9 19 3NV= v2 -400 12.0 6.0
16 2 3vyN+1 ¢3 170 130 50|14 12 3NN+1 ¢Q 430 120 6.0[(16 3 3NO= vT -400 12.0 6.0
17 10 2v» N+1  ¢6 140 100 80|15 6 3NN+1 v2 430 120 6.0|17 11 3NV= v2 -400 120 6.0
1 3 3NV-1 vA 100 50 13.0|16 2 3NN+1 ¢+Q 430 120 6.0|18 5 3NV= v2 -400 120 6.0
8 19 34 V-1 vA 100 5.0 13.0|17 10 3NN+1 ¢+Q 430 120 6.0[20 12 3NV= v5 -400 12.0 6.0
15 6 340-1 ¢A 100 50 13.0| 8 19 3NN= +Q 400 40 14.0|13 8 44 0= *A -420 40 14.0
18 4 4e4 V-1 vA 100 50 13.0| 1 3 34S+1 v8 170 1.0 17.0( 1 14 3NO+1 %6 -430 1.0 17.0
11 20 3DV +1 ©vA -870 00 18.0|18 4 24 S+2 ¢+9 170 10 17.0(15 7 3NO+1 &2 -430 10 170
16 & K10976 Bésta kontrakt 17 4109843 Bésta kontrakt 18 & K864 Bésta kontrakt
Vast v 105 74 ND-6-1400 |Nord v7 5NT O =-460 Ost v KKn 2NTV D -1100
ov +5 Ingen + K83 NS + EKn1052
#KKn865 & ¢ v & NT #E654 & ¢ v & NT »E8 & ¢ v & NT
4E32 a4 N3 2071 4 EKKn762 4D5 N556 32 #1052 4 EKn9 N8 6 8 86
vED743 v9862 $§32071 vKD v Kn105 S$53622 vED63 v95 S86 776
¢ K1097 ¢ EKn3 O 1011136 12 ¢ 76 ¢ EDKn52 087 7 1011 ¢+ D4 ¢ K98763 0575586
*2 #ED973 VvV 1011136 12 *K82 *D97 vV 8 7 6 1011 #Kn953 #K6 V57557
« DKn85 .- «D73
v KKn v E986432 v 108742
¢ D8642 ¢ 1094 ¢-
»104 #Kn103 #D10742
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
17 11 44DS-2 &2 -300 18.0 0.0|17 12 54DV-1 #A 100 180 0.0| 9 13 1a N= *6 80 180 0.0
1 14 4v V +2 *8 -680 15.0 3.0| 9 13 44 V-1 v7 50 150 30| 7 11 INO-1 *2 50 13.0 5.0
9 19 4v V+2 ¢5 -680 15.0 3.0|14 2 4eV-1 v7 50 150 3.0[17 12 2¢ O-1 v2 50 130 5.0
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2 4 4y V+3 +5 -710 8.0 100| 3 5 44 V= v7 -420 70 11.0(18 6 2¢ O-1 43 50 13.0 5.0
6 10 4v V+3 +5 -710 8.0 10.0| 7 11 4e V= v7 -420 70 11.0({20 1 2+ O-1 *4 50 13.0 5.0
15 7 4v V+3 +5 -710 8.0 10.0|16 4 44 V= *A -420 70 110 3 5 24 O= *2 -90 6.0 12.0
18 5 4y V+3 +5 -710 8.0 10.0|18 6 44 V= v7 -420 70 11.0(14 2 2¢ O= *2 -90 6.0 12.0
20 12 4y V+3 ¢+5 -710 8.0 10.0|19 10 44 V= v7 -420 70 11.0(16 4 2¢ O= *2 -90 6.0 12.0
16 3 6v V= 46  -1430 20 16.0|20 1 44 V= v7 -420 70 11.0| 8 15 2vy N-1 v5 -100 20 16.0
13 8 6y V+1 ¢5 -1460 0.0 18.0| 8 15 3NO+1 vA -430 0.0 18.0|19 10 24 N-2 v9 -200 0.0 18.0
19 oK Basta kontrakt 20 » EK976 Basta kontrakt 21 a2 Basta kontrakt
Syd v KD1065 4v S =420 Vast v Kn4 3¢ V =-110 Nord v E106543 3NT O =-400
oV + K1097 Alla + 1096 NS + K1032
#963 & ¢ v & NT #D32 & ¢ v & NT *73 & ¢ v o NT
495 «D1074 N 8 7 108 9 4Kn532 «D10 N6 4566 496 « EKD43 N4 4553
vE8743 v- S 8 7 108 9 vED102 v987 S6 4566 vDKn872 vK S 44553
¢ E54 ¢ Kn8632 056 344 +5 ¢ EK8743 079876 ¢ ED7 ¢ Kn94 098789
«D74 #Kn852 V56344 #E1086 #94 V7987€6 +KD5 #Kn1062 V98889
« EKn8632 » 84 + Kn10875
v Kn92 v K653 v9
+D ¢ DKn2 + 865
#EK10 *KKn75 *E984
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 14 4y N+1 a7 450 180 00| 3 14 2v V-2 aA 200 170 10|11 13 24 O= v9 -110 18.0 0.0
8 12 3NN+1 ¢3 430 16.0 20|17 1 3¢ V-2 «A 200 170 10| 2 17 3NV= v5 -400 14.0 4.0
18 7 4vy N= ¢3 420 140 40| 4 6 34 0-1 8 100 140 40|10 15 3NO= 45 -400 140 4.0
5 16 24 S+1 vA 140 10.0 8.0| 8 12 Pass 120 6.0|18 8 3NO= *4 -400 140 4.0
15 9 24 S+1 vA 140 100 80|15 9 2¢ O= 44 -90 90 90| 5 7 3NV+1 *2 -430 70 11.0
19 11 3v N= &2 140 100 80|19 11 INO= 48 -90 90 90| 9 1 3NV+1 v5 -430 7.0 11.0
4 6 4vyN-1 +3 -50 3.0 150| 5 16 3¢ O= 48 -110 3.0 15014 4 3NV+1 2 -430 7.0 11.0
13 10 4vy N-1 &5 -50 3.0 15.0|13 10 2v V= & A -110 3.0 15016 6 3NO+1 ¥9 -430 70 11.0
17 1 4y N-1 a7 -50 30 15.0(18 7 2¢ O+l v5 -110 3.0 15.0(19 12 3NV +2 +3 -460 1.0 17.0
20 2 5vN-1 +3 -50 3.0 150|20 2 2¢ O+1 8 -110 3.0 15020 3 3NV+2 3 -460 1.0 17.0
22 & Kn965 Basta kontrakt 23 4 DKn10 Basta kontrakt 24 & EK52 Basta kontrakt
Ost vD9 54 O =-650 Syd vD75 5NT N =660 Vast v 102 2NT N =120
ov + Kn94 Alla + DKn53 Ingen + KD8
#10652 & ¢ v & NT #EKn9 & ¢ v & NT *K876 % ¢ v & NT
4 EKD1043 &7 N26 322 496543 4 K82 N 1111108 11 «Kn973 41084 N9 77 78
v EKn8 v 6543 S26322 v103 v KKn98 S 1010108 10 v83 v EKn975 S97778
¢E 410872 O 117 10119 +10964 ¢ K2 022352 ¢E974 #1062 046555
*EK8 #DKn97 V 117 10119 #103 #8542 V22352 D104 #E3 V46555
#82 o E7 D6
vK1072 v E642 v KD64
+ KD653 + E87 4 Kn53
#43 *KD76 #Kn952
Par  Kontr ut Res Poéng Par Kontr ut Res Poang Par Kontr ut Res Poéang
11 13 34 V+1 #5 -170 180 0.0|12 13 3NS+3 49 690 180 00| 5 14 INN+2 v7 150 170 1.0
5 7 24 V+3 +4 -200 16.0 2.0|15 11 3NS+2 44 660 16.0 20|15 11 2NN+1 v7 150 17.0 1.0
2 17 44 V+1 *6 -650 8.0 10.0| 9 18 3NS+1 4 630 13.0 50| 6 8 2NN= v7 120 10.0 8.0
9 1 44 VH+1 +4 -650 8.0 100|20 4 3NS+1 «3 630 13.0 50| 9 18 2NN= v7 120 10.0 8.0
10 15 44 V+1 &5 -650 8.0 100| 6 8 3NS= ¢4 600 6.0 12.0|12 13 2NN= v9 120 10.0 8.0
16 6 44 V+1 +4 -650 8.0 10.0| 7 16 3NS= ¢T 600 6.0 12.0|17 3 2NN= v7 120 10.0 8.0
18 8 44 V+1 *4 -650 8.0 10.0|10 2 3NS-= +4 600 6.0 120(19 1 2NN= v9 120 10.0 8.0
19 12 44 V+1 vQ -650 8.0 10.0|17 3 3NN= #2 600 6.0 120 7 16 3NN-1 v5 -50 4.0 14.0
20 3 54 V= *6 -650 80 10.0|19 1 3NS= 4 600 6.0 120(10 2 3NN-2 +6 -100 20 16.0
14 4 3NV +2 »2 -660 0.0 180| 5 14 4NS-1 43 -100 0.0 180|20 4 3NN-3 v5 -150 0.0 18.0
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